X LA AEE (B4hl) EASTHETH

O ERDBE-KEXB(B%k) O FROBE-KXE8(BH) O EHDBE-PEXE (&)
JE{Z HEH 2S00 REER JIE {2 HETH |2 E )| MEFH JIE 2 A |2E )| MEEH
1 A 55.95 22,920 1 B 67.80 10,069 1 M 41.67 6,891
2 |[BaM™ 54.63 13,745 2 [;B)IHEr 67.77 3,639 2 [EXIET | 3896 2,799
3 [;BJIHET 54.39 4872 3 |[{E=EHE 67.22 8,144 3 [FHE™ 37.85 10,552
4 |FHEH 54.25 36,330 4 [+EEEET 66.03 1,561 4 |EETH 37.33 10,468
5 |EZ=EHE 53.41 11,062 5 |FHEMm 65.94 25,778 5 |EHEM 37.12 4,462

O FmMEREEEFMOIREHE (BX)

O HF@EREEEFMOIELHS (B1E)

O FEERESEEROIREHE (1)

JIIE 452 HETH |21E )| MEEH B4 [T ET 4 2|E )| MEEHR B4 |ThET4E Z|E )| EEH
[ = 4.29 657 1 | EEH 4.18 358 1 g 5.12 774
2 |AILHET 3.88 344 2 [KEH 3.35 720 2 |F0FkTh 483 799
3 [;BJIET 3.65 327 3 |#)IET 3.27 132 3 |FHEtH 481 1,340
4 | KEM 3.55 1,335 4  [FLLAET 3.23 166 4  [B)IET 4.80 172
5 |E#Th 3.53 1,556 5 |[FEHR 3.12 299 5 |ZILHET 4.77 178
O /IS—bF-FILINL(+-FDHh (B %) O /8—F-FZILSA - FDh (B1E) O /IS8—b-ZIJLIN - F D (Z k)
B4 [ThET4F Z|E )| EEHR B4 [T ET 4 2|E 0| MEEHR B4 |ThET4E Z|E )| EEH
1 |EHXF [ 31.66 436 1 EE#XF | 18.26 145 1 NN 51.63 3,162
2 |JELLHET 31.47 2,020 2 |JELLET 17.76 652 2 |3REH 50.39 9,825
3 |/NIET 30.68 4,741 3 |[EEHE] 17.41 589 3 |EHXA | 49.91 291
4 |[EEAHHET 30.16 1,779 4 |EZILET [ 17.07 1,536 4  |hELLHET 49.80 1,368
5 |EXJILET | 30.00 4,855 5  [/MIET 16.88 1,488 5 [FEFH 49.58 5,152
O #EBB=x) O #E(BH) O &8 (&)
IBGE | THETH |Z1E 0| BREEHR IBGE | THETH |Z1E 0| TREEHR IBRE | THETA |ZIE e | TREEH
1 J\ig™h 6.04 2,642 1 =k 8.00 13,407 1 = tadil 4.24 86
2 Diowsh 5.97 17,056 2 |J\&EH 7.86 2,049 2 |/DMEEETHT 4.01 104
3 | EBEET 5.97 284 3 [=8vh 7.53 2,958 3 | REmET 3.51 56
4  |=H 5.63 3,776 4 |EKRTH 7.37 1,466 4 |HXmH 3.44 441
5 | RiEHET 5.35 192 5 |E5EPHET 7.25 198 5 /\#ih 3.35 593




O BEAD®HIEE (BXK) O EADHLIEFE (B1) O EADBHIEFE (K1h)

JIE 432 HETH |21E )| MEEH JIE 32 HETH |2 E )| MEFH JIE 452 HETH |2& )| MEEH
1 BRRAH 2.69 37 1 /|\FEE BP HT 4,06 138 1 BRXh 0.94 121
2 |/NEEETHT 2.54 152 2 |EHARXH 4.03 32 2 |EHEHARH 0.86 5
3 |KiEHET 2.54 91 3 | RiEHET 3.91 78 3 | RiEHET 0.82 13
4  |BXmh 247 733 4 |HX™ 3.63 612 4 |/NIET 0.78 52
5 |EEEHET 2.19 104 5 |EEHET 3.40 93 5 |={HKHE 0.71 45
O EADLNEF (BX) O EADLNEF (BH) O EADLWNEF (Zif)
JIE 432 HETH |2E )| MEEH JIE 32 HETH |2 E )| MEFH JIE 452 HETH |2E )| MEEH
1 S EHT 10.26 578 1 B 14.92 481 1 EENDHE] 493 124
2 |#)IET 10.03 704 2 |4)IET 14.41 582 2  |EEET 4.71 75
3 |/MEEEPHT 9.25 554 KT 13.16 814 3 [HR™ 4.26 545
4 [EEDDHHET] 9.16 540 4  [/NEEFFET | 13.12 446 4  |/MNEEETHT 4.17 108
5 [JIIERT 9.02 949 b [E®HR# | 1285 102 5 |#)IET 4.09 122
O REE#txXE (B%x) O RIEMESE (B O RIEMES (Zif)
JIIE 452 HETH |2NE )| MEEH JIiE 452 HETH |2NE )| MEEH JIIE 452 HETH |2E ()| MEEH
1 | EH 5.68 320 1 |EEHR 2.45 79 [ E3=L) 10.00 241
2 |/DMEEETHT 5.44 326 2 |EHEHARXH 2.39 19 2 |/MNEEETHT 9.80 254
3 |EA™ 5.23 3,685 3 |/MNEEETHET 2.12 72 3 [FEamhm 9.39 2,834
EES: 30 4.87 67 4 [FEah 2.12 851 4 |#)IET 8.35 249
5 |#)IET 4.70 330 5 | EiEHET 2.01 40 5 MM 8.23 48
O RENRE (B%) O RENRE (BH) O REARBSE (ZiE)
IBGE | THETH |ZNE 0| BREEHR IBGE | THETH |Z1E 0| TREEHR IBGE | THETA |ZIE e | TREEH
1 /MEeEFHT 0.77 46 1 |#EAHET 0.24 8 1 [/MDEEE 1.50 39
2 | RiHET 0.59 21 2 [/DEEETHT 0.21 7 2 | REET 1.19 19
3 |#SAEHT 0.46 27 3 [&ENDHE] 015 5 3 [tEEEET 0.96 16
4 [)\Eh 0.45 197 4  [)\iFh 0.11 29 4 [J)\iFh 0.95 168
5  |HEEHET 0.42 17 5 | EiEHET 0.10 2 5 |EHEHARXHM 0.86 5




O fes k Dipfil

FeEI(BXR)

O X LDMMTFEE] ()

O fEXELDMMTARE) ()

JIE 432 HETH |2E )| MEEH JIE 32 HETH |2 E )| MEFH JIE 452 A |2E )| MEEH
1 |F0kTh 9.48 3,885 1 |F0Xxm™ 10.19 2,490 1 |F0kth 8.44 1,395
2 |@&h 8.88 3,203 2 |E&h 9.95 2,085 2 |@mhm 7.40 1,118
3 |EHE™ 8.60 5,774 3 |sHETH 9.60 3,754 3 |[EHE™m 7.20 2,020
4 [)\#h 8.13 3,560 4 [)\Fh 8.80 2,294 4  [J)\iFh 7.15 1,266
5 |ALHHFH| 752 3,863 5 [ALaEm| 815 2,431 5 [ 6.84 4,756




